
Inverse Relationships (B)
Fill in the blanks

7 × 12 = 84 9 × 8 = 72 10 × 8 = 80 6 × 6 = 36
12 × 7 = ___ ___ × 9 = 72 8 × 10 = ___ 6 × ___ = 36
84 ÷ ___ = 7 72 ÷ ___ = 9 ___ ÷ 8 = 10 ___ ÷ 6 = 6
84 ÷ 7 = ___ 72 ÷ 9 = ___ 80 ÷ ___ = 8 36 ÷ 6 = ___

6 × 11 = 66 8 × 7 = 56 7 × 5 = 35 8 × 5 = 40
11 × ___ = 66 7 × ___ = 56 ___ × 7 = 35 ___ × 8 = 40
___ ÷ 11 = 6 ___ ÷ 7 = 8 35 ÷ 5 = ___ 40 ÷ ___ = 8
66 ÷ 6 = ___ 56 ÷ ___ = 7 ___ ÷ 7 = 5 40 ÷ ___ = 5

11 × 9 = 99 6 × 10 = 60 8 × 9 = 72 8 × 9 = 72
9 × 11 = ___ ___ × 6 = 60 9 × 8 = ___ 9 × ___ = 72
___ ÷ 9 = 11 60 ÷ ___ = 6 72 ÷ 9 = ___ 72 ÷ 9 = ___
99 ÷ ___ = 9 ___ ÷ 6 = 10 ___ ÷ 8 = 9 ___ ÷ 8 = 9

7 × 5 = 35 12 × 11 = 132 5 × 9 = 45 7 × 6 = 42
5 × ___ = 35 11 × ___ = 132 9 × ___ = 45 ___ × 7 = 42
___ ÷ 5 = 7 ___ ÷ 11 = 12 ___ ÷ 9 = 5 ___ ÷ 6 = 7
35 ÷ 7 = ___ 132 ÷ ___ = 11 45 ÷ ___ = 9 42 ÷ 7 = ___

6 × 9 = 54 7 × 11 = 77 6 × 5 = 30 10 × 6 = 60
9 × 6 = ___ 11 × ___ = 77 5 × 6 = ___ 6 × ___ = 60
54 ÷ 9 = ___ 77 ÷ ___ = 7 ___ ÷ 5 = 6 60 ÷ 6 = ___
___ ÷ 6 = 9 ___ ÷ 7 = 11 30 ÷ 6 = ___ 60 ÷ 10 = ___
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Inverse Relationships (B) Answers
Fill in the blanks

7 × 12 = 84 9 × 8 = 72 10 × 8 = 80 6 × 6 = 36
12 × 7 = _84_ _8_ × 9 = 72 8 × 10 = _80_ 6 × _6_ = 36
84 ÷ _12_ = 7 72 ÷ _8_ = 9 _80_ ÷ 8 = 10 _36_ ÷ 6 = 6
84 ÷ 7 = _12_ 72 ÷ 9 = _8_ 80 ÷ _10_ = 8 36 ÷ 6 = _6_

6 × 11 = 66 8 × 7 = 56 7 × 5 = 35 8 × 5 = 40
11 × _6_ = 66 7 × _8_ = 56 _5_ × 7 = 35 _5_ × 8 = 40
_66_ ÷ 11 = 6 _56_ ÷ 7 = 8 35 ÷ 5 = _7_ 40 ÷ _5_ = 8
66 ÷ 6 = _11_ 56 ÷ _8_ = 7 _35_ ÷ 7 = 5 40 ÷ _8_ = 5

11 × 9 = 99 6 × 10 = 60 8 × 9 = 72 8 × 9 = 72
9 × 11 = _99_ _10_ × 6 = 60 9 × 8 = _72_ 9 × _8_ = 72
_99_ ÷ 9 = 11 60 ÷ _10_ = 6 72 ÷ 9 = _8_ 72 ÷ 9 = _8_
99 ÷ _11_ = 9 _60_ ÷ 6 = 10 _72_ ÷ 8 = 9 _72_ ÷ 8 = 9

7 × 5 = 35 12 × 11 = 132 5 × 9 = 45 7 × 6 = 42
5 × _7_ = 35 11 × _12_ = 132 9 × _5_ = 45 _6_ × 7 = 42
_35_ ÷ 5 = 7 _132_ ÷ 11 = 12 _45_ ÷ 9 = 5 _42_ ÷ 6 = 7
35 ÷ 7 = _5_ 132 ÷ _12_ = 11 45 ÷ _5_ = 9 42 ÷ 7 = _6_

6 × 9 = 54 7 × 11 = 77 6 × 5 = 30 10 × 6 = 60
9 × 6 = _54_ 11 × _7_ = 77 5 × 6 = _30_ 6 × _10_ = 60
54 ÷ 9 = _6_ 77 ÷ _11_ = 7 _30_ ÷ 5 = 6 60 ÷ 6 = _10_
_54_ ÷ 6 = 9 _77_ ÷ 7 = 11 30 ÷ 6 = _5_ 60 ÷ 10 = _6_
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